

Comparative review of some properties of fuzzy and anti fuzzy subgroups

B. O. ONASANYA

Received dd mm 201y; Accepted dd mm 201y

ABSTRACT. This paper is to comparatively review some works in fuzzy and anti fuzzy group theory. The aim is to provide anti fuzzy versions of some existing theorems in fuzzy group theory and see how much similar they are to their fuzzy versions. The research therefore focuses on the properties of fuzzy subgroup, fuzzy cosets, fuzzy conjugacy and fuzzy normal subgroups of a group which are mimicked in anti fuzzy group theory.

2010 AMS Classification: 20N25

Keywords: Anti fuzzy subgroup, level subgroup, fuzzy coset, fuzzy normalizer.

Corresponding Author: B. O. Onasanya (babtu2001@yahoo.com)

1. INTRODUCTION

[15] started the research in fuzzy set and he worked on the properties of fuzzy sets in which every element $x \in X$ is assigned a membership value between 0 and 1 depending on to what degree does x belong to X . This was given a group structure by [12]. Furthermore, [2] developed the concept of level subgroups.

In 1984, [6] also introduced the concept of fuzzy left and right cosets. The concept of fuzzy normal subgroup was improved on by the work of [14] in 1997, which studied the concepts such as fuzzy middle cosets, pseudo fuzzy cosets and pseudo fuzzy double coset. The link between fuzzy subgroup and anti fuzzy subgroup was made by [1] in 1990.

2. PRELIMINARIES

Definition 2.1 ([13]). Let X be a non-empty set. A fuzzy subset μ of the set X is a function $\mu : X \rightarrow [0, 1]$.

Definition 2.2 ([12, 13]). Let G be a group and μ a fuzzy subset of G . Then μ is called a fuzzy subgroup of G if

- (i) $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$
- (ii) $\mu(x^{-1}) = \mu(x)$
- (iii) μ is called a fuzzy normal subgroup if $\mu(xy) = \mu(yx)$ for all x and y in G .

Definition 2.3 ([13]). Let μ and λ be any two fuzzy subsets of a set X . Then

- (i) λ and μ are equal if $\mu(x) = \lambda(x)$ for every x in X
- (ii) λ and μ are disjoint if $\mu(x) \neq \lambda(x)$ for every x in X
- (iii) $\lambda \subseteq \mu$ if $\mu(x) \geq \lambda(x)$

Definition 2.4 ([13, 14]). Let μ be a fuzzy subset (subgroup) of X . Then, for some $t \in [0, 1]$, the set $\mu_t = \{x \in X : \mu(x) \geq t\}$ is called a t -level subset (subgroup) of the fuzzy subset (subgroup) μ .

Remark 2.5. If μ is a fuzzy subgroup of G and μ_t is a subgroup of G , the set μ_t can be represented as G_μ^t .

Definition 2.6 ([14]). Let μ be a fuzzy subgroup of a group G . The set $H = \{x \in G : \mu(x) = \mu(e)\}$ is such that $o(\mu) = o(H)$ and the order of μ is $|H|$.

Theorem 2.7 ([12]). Let G be a group and μ a fuzzy subset of G . Then μ is called a fuzzy subgroup of G if and only if $\mu(xy^{-1}) \geq \min\{\mu(x), \mu(y)\}$.

Definition 2.8 ([6, 13]). Let μ be a fuzzy (or an anti fuzzy) subgroup of a group G . For a in G , the fuzzy (or anti fuzzy) coset $a\mu$ of G determined by a and μ is defined by $(a\mu)(x) = \mu(a^{-1}x)$ for all x in G .

Definition 2.9 ([1]). Let G be a group. A fuzzy subset μ is an anti fuzzy subgroup of G if $\forall x, y \in G, \mu(xy^{-1}) \leq \max\{\mu(x), \mu(y)\}$.

Definition 2.10 ([9]). Let μ be an anti fuzzy subgroup of G . For $a, b \in G$, anti fuzzy middle coset $(a\mu b)$ is defined by $(a\mu b)(x) = \mu(a^{-1}xb^{-1})$.

Definition 2.11 ([9]). Let μ be an anti fuzzy subgroup of G . Then it is anti fuzzy normal if $\mu(xy) = \mu(yx) \forall x, y \in G$ or $\mu(x) = \mu(yxy^{-1}) \forall x, y \in G$.

Definition 2.12 ([6]). Let μ be a fuzzy subgroup of G . Then it is fuzzy normal if $\mu(xy) = \mu(yx) \forall x, y \in G$ or $\mu(x) = \mu(yxy^{-1}) \forall x, y \in G$.

Theorem 2.13 ([9]). Let $a^{-1}\mu a$ be a fuzzy middle coset of G for some $a \in G$. Then all such a form the normaliser $N(\mu)$ of fuzzy subgroup μ of G if and only if μ is fuzzy normal.

Definition 2.14 ([9]). Let μ and λ be any two anti fuzzy subgroup of G for any x and some $g \in G$. Then, they are said to be anti fuzzy conjugate if $\lambda(x) = \mu(g^{-1}xg)$

3. ANTI FUZZY COSETS AND CONJUGATES

Many of the results here have been treated in fuzzy version by [9]

Theorem 3.1. *Let $a^{-1}\mu a$ be an anti fuzzy middle coset of G for some $a \in G$. Then all such a form the normalizer $N(\mu)$ of the anti fuzzy subgroup μ of G if and only if μ is anti fuzzy normal.*

Proof. We define the normaliser of the anti fuzzy subgroup μ by $N(\mu) = \{a \in G : \mu(axa^{-1}) = \mu(x)\}$ [8]. Then, $\mu(axa^{-1}) = \mu(x) \Leftrightarrow \mu$ is anti fuzzy normal so that $\mu(axa^{-1}a) = \mu(xa) \Leftrightarrow \mu(ax) = \mu(xa)$.

Conversely, let μ be anti fuzzy normal and $a^{-1}\mu a$ an anti fuzzy middle coset in G . Then, for all $x \in G$ and some $a \in G$,

$$(a^{-1}\mu a)(x) = \mu(axa^{-1}) = \mu(aa^{-1}x) = \mu(x).$$

This implies that $\mu(axa^{-1}) = \mu(x)$. Hence, $\{a\} = N(\mu)$. □

It is important to remark that by 2.13 and 3.1, a fuzzy subgroup and its complement has the same normalizer.

Proposition 3.2. *Let μ be an anti fuzzy normal subgroup of G . Then every anti fuzzy middle coset $a\mu b$ by a and b coincides with some left and right anti fuzzy cosets $c\mu$ and μc respectively, where c is the product $b^{-1}a^{-1}$.*

Proof. By associativity in G and 2.11, we have that

$$\begin{aligned} (a\mu b)(x) &= \mu((a^{-1}x)b^{-1}) = \mu(b^{-1}(a^{-1}x)) \\ \mu(b^{-1}a^{-1}x) &= \mu(cx) = \mu(xc) \text{ still by 2.11.} \end{aligned}$$

Therefore, $(a\mu b)(x) = (c\mu)(x) = (\mu c)(x)$

Thus, $(a\mu b) = c\mu = \mu c$. □

Theorem 3.3. *Let G be a group of order 2 and μ an anti fuzzy normal subgroup of G . Then, for some $a \in G$ and $\forall x \in G$, the anti fuzzy middle coset $a\mu a$ coincides with the anti fuzzy subgroup μ*

Proof. In the anti fuzzy middle coset $a\mu b$, take $a = b$. By associativity in G , we have

$$(a\mu a)(x) = \mu((a^{-1}x)a^{-1})$$

. By 3.2,

$$\mu((a^{-1}x)a^{-1}) = \mu(a^{-2}x).$$

Since $a^{-1} \in G$ and G is of order 2,

$$\mu(a^{-2}x) = \mu((a^{-1})^2x) = \mu(ex) = \mu(x).$$

Therefore,

$$a\mu a = \mu. \quad \square$$

Remark 3.4. [9] has define that any two elements $a, b \in G$ are fuzzy μ -commutative if μ is a fuzzy subgroup when $a\mu b = b\mu a$. Similarly, we extend that this is also the definition when μ is an anti fuzzy subgroup of G .

Theorem 3.5. *Let μ be an anti fuzzy normal subgroup of G . Then any two elements a and b in G are anti fuzzy μ -commutative.*

Proof. $(a\mu b)(x) = \mu(a^{-1}xb^{-1})$. Then, 2.10, 2.11 and associativity of G ,

$$\mu(a^{-1}xb^{-1}) = \mu(b^{-1}xa^{-1}) = (b\mu a)(x)$$

. Thus,

$$a\mu b = b\mu a$$

□

Theorem 3.6. *Every anti fuzzy middle coset $a\mu b$ of a group G is an anti fuzzy subgroup if μ is anti fuzzy conjugate to some anti fuzzy subgroup λ of G .*

Proof. Let $b = a^{-1}$ for some $a, b \in G$ and μ and λ be anti fuzzy conjugate subgroups of G .

$$(a\mu b)(xy^{-1}) = (a\mu a^{-1})(xy^{-1}) = \mu(a^{-1}xy^{-1}a) = \lambda(xy^{-1}) \leq \max\{\lambda(x), \lambda(y)\}$$

This implies that

$$\max\{\lambda(x), \lambda(y)\} = \max\{\mu(a^{-1}xa), \mu(a^{-1}ya)\} = \max\{(a\mu a^{-1})(x), (a\mu a^{-1})(y)\}.$$

Hence,

$$(a\mu b)(xy^{-1}) \leq \max\{(a\mu b)(x), (a\mu b)(y)\}.$$

□

CONCLUSION

Combining the results of [3], [4], [5], [7] [9], [10], [13] and this work, it can be seen that many algebraic properties of the underlying set(s) of fuzzy and anti fuzzy subgroups are very similar. It may then be concluded that many algebraic properties of a fuzzy subgroup of a group will hold similarly for the complement of the fuzzy subgroup, which is an anti fuzzy subgroup of the group. Variations may only occur when level subsets are involved as can be seen in [10] and [11]. This is because, if μ is a fuzzy subgroup and $t_1, t_2 \in [0, 1]$ such that $t_1 \leq t_2$, then $\mu_{t_2} \subseteq \mu_{t_1}$. But if μ is an anti fuzzy subgroup for such t_1 and t_2 , $\mu_{t_1} \subseteq \mu_{t_2}$.

Hence, if results are established in fuzzy group theory, it may not worth much rigour to work on its anti fuzzy version. As a matter of fact, the anti fuzzy version can be established easily by just taking the complement of the fuzzy subgroup in the following sense: If μ is a fuzzy subgroup of a group, then, $1 - \mu$, its complement, is an anti fuzzy subgroup.

Acknowledgements.

REFERENCES

- [1] R. Biswas, Fuzzy subgroups and anti fuzzy subgroups, Fuzzy Sets and Systems 35 (1990) 121–124.
- [2] P. S. Das, Fuzzy groups and level subgroups, J. Math. Anal. and Appl. 84 (1981) 264–269.
- [3] S. K. Majumder and S. K. Sardar, On some properties of anti fuzzy subgroups, J. Mech. Cont. & Math. Sci. 3(2) (208) 337–343.
- [4] K. H. Manikandan and R. Muthuraj, Pseudo fuzzy cosets of a HX group, Applied Mathematical Sciences 7(86) (2013) 4259–4271.

- [5] K. H. Manikandan and R. Muthuraj, Some properties of induced fuzzy and induced anti fuzzy subgroups on a HX group, IJSRMI 1(3) (2013) 211–224.
- [6] N. P. Mukherjee and P. Bhattacharya, Fuzzy normal subgroups and fuzzy cosets, Information Sciences 34 (1984) 225–239.
- [7] R. Muthuraj, M. Rajinikannan and M. S. Muthuraman, A study on anti fuzzy sub-bigroup, Int. J. Computer Applications 2(1) (2010) 31–35.
- [8] B.O. Onasanya, Some reviews in fuzzy and anti fuzzy subgroups, Ann. Fuzzy Math. Inform. (*To appear*).
- [9] B.O. Onasanya and S. A. Ilori, On cosets and normal subgroups, Int. J. Math. Combin. 3 (2014 Edition) 35–40.
- [10] B.O. Onasanya and S. A. Ilori, Some results in fuzzy and anti fuzzy group theory, Int. J. Math. Combin. 1 (2014 Edition) 1–5.
- [11] B.O. Onasanya and S. A. Ilori, Relations, Isomorphism of level and lower level subgroups, The Journal of Fuzzy Mathematics 23(2) (2015) 407–412.
- [12] A. Rosenfeld, Fuzzy groups, J. Math. Anal. and Appl 35 (1971) 512–517.
- [13] W.B. Vasantha Kandasamy, Smarandache fuzzy algebra, American Research Press, Rehoboth (2003).
- [14] W.B. Vasantha Kandasamy and D. Meiyappan, Pseudo fuzzy cosets of fuzzy subsets, fuzzy subgroups and their generalizations, Vikram Mathematical J. 17 (1997) 33–44.
- [15] L. A. Zadeh , Fuzzy Sets, Information and Control 8 (1965) 338–353.